
LOCTITE

Apply Loctite

.....x1

M1.4x5mm Phillips Head Screw

02

CAUTION: Please check your model helicopter carefully before attemp to fly!

COPYRIGHT © 2017 MICROHELI

®

MICROHELI CO., LTD.

2

Insert Push Rod

Mount

MH-18FX024I

Tail Boom Support

Mount

MH-18FX123

Tail Boom

(Stock part

not included)

M1.4x5mm

Phillips Head Screw

M1450PSS

Tail Boom Support

(Stock part

not included)

Tail Boom Support

(Stock part

not included)

Tail Linkage Push Rod

(Stock part

not included)

M1.6x4mm

Cap Screw

M1640CSS

M1.6x4mm

Cap Screw

M1640CSS

.....x2

M1.6x4mm Cap Screw

1

REV. 18FX-CLFR-221214-01

01

CAUTION: Please check your model helicopter carefully before attemp to fly!

COPYRIGHT © 2017 MICROHELI

®

MICROHELI CO., LTD.

LOCTITE

Apply Loctite

LOCTITE

Apply Loctite to all screws

BLADE 180 CFX SUPPORT UPGRADE COMBO (RED)

MH-18FX-CLFR

BLADE 180 CFX  HELICOPTER Blade 180 CFX Support Upgrade combo (RED) INSTRUCTION

.....x4

M1.2X2mm Phillips Head Screw

.....x4

M1.6x4mm Phillips Head Screw

M1.6x5mm

(Stock part

not included)

Landing Gear

Support

MH-18FX106LS

Bottom Plate

(Stock part

not included)

Landing Skid "I" Style

MH-18FX006LI

M1.6x4mm

Phillips Head Screw

M1640PSS

M1.2x2mm

Phillips Head Screw

M1220PSS

Landing Skid "I" Style Support

MH-18FX006SI

Landing Skid "I" Style Support

MH-18FX006SI

REV. 18FX-CLFR-221214-01

LOCTITE

Apply Loctite to all screws

BLADE 180 CFX SUPPORT UPGRADE COMBO (RED)

MH-18FX-CLFR

BLADE 180 CFX  HELICOPTER Blade 180 CFX Support Upgrade combo (RED) INSTRUCTION


	Sheets and Views
	Model


